16.1

E(t) = Asin ot

16.1.5(a)
A :
f (t) = E(sm ot +|sinwt|)

16.1.5(b)
f,(t) = Alsin ot|
o=1 f,(x)
Fourier
[_7[1 72-]
f(x)=sgnx;

F2(X)

XZ
f(x) = ——77;
() , 7

ax,
0= {bx

X € [-x,0),
x €[0, 7).

f(X)=7+x,xel0, 7];

00 = {Zx, x [0, %),

r, Xel&, xl,

f(x)=x(r—-x),xel0, x];
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[_72-’7[]

Fourier

f(x)=|cosx|;

) X, Xe[-x,0),
(X)_{o, x e [0,7);

f(x)=e2*,xe[0,7];

F(x) = {cos%, x €[0),
0, x €[1,2].

f(x)=e*,xe]0, 7];

f(x)= {sinl:Zx, :ee[[;? f(x)= x—%+x—% ,xe[0,7].
2 [a,a+27] f(x) Fourier
Fourier

f(x)=”;X,XE[o,2;z]; f(x)=x2, xe[0,27];
_ _ _[e™, xe[-10),

f(x)=x, xe€[0,1]; f(x)—{o’ x < [01);
_|C, xe[-T\0),

1 _{o, X €[0T) )



() = 0, 0<t<T,,
~|Bsinwt, T,<t<T,

(0] T= 2—7[
@
Ty :% 16.1.6 I(t)
[0,T] Fourier
f(x) [-77]
x€[-m7] 16.1.6
f(x)=f(x+7) Aypq =D0,,,=0
X € [-m,7x] f(x)=-f(X+7x) a,,=b,, =0.
f(x) (0,7/2)
[-7, =] Fourier
f(x)~ian cos(2n—1)x; f(x)~ibn sin 2nx .
n=1 n=1
2z f(x) [-=m, ] Fourier a, b,
Fourier a, Bn
9(x) = f(-x); h(x)=f(x+C) (C

E(x) :%j_’; F(t) f (x—t)dt

16.2

w(X) [0,+x) limy(x)=0
lim OM w(X)sin pxdx=0 .
P>+

w(u) [z, 7] u=0

u
COS— —COS pu

R T 1 z u
lim u du= = u) —w(-u)]cot—du .
lim [* () - > ], @) -y (-w)cot

y() [-5.]
tim [ v @~ 2109+ w0}

Dirichlet w(u)
Lipschitz
816.1 2 3 4 6 Fourier
Fourier

Sin pudu= 0.
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8. sin x
9.
O<x<2r a=#0

re® = (eza”—l)[i +

O<x<27r a

1 1 .o
32 52 72 8

o0

Z acosnx —nsin nx
— a’+n’

sin2arx N i asin 2az cos nx + n(cos 2az —1)sin nx

71 coSax =
2a ~ a®-n?
X=7
ar o (=D)"
=1+2a
sinar éaz —-n?
10
—, x=0,
F()=1In2
0, x=0
Dirichlet-Jordan Dini-Lipschitz
XCOS%, XxX=#0,
f(X) — 2x
0, x=0
Dini-Lipschitz Dirichlet-Jordan
16.3
16.1.2
o (_1\n+l
X ~ Zz&sin nx X e (-x,7)
=1 N
x2 x® Fourier
a, .
2 16.3.2 16.3.1 ?‘)+Z(an cos nx + b, sin nx)
n=1
: = b,
Fourier >
n=1 N
= sinnx < sinnx
3 nzzzl Inn nzzzllnlnn
Fourier
4 16.1.1
F0) = 1, XE[—E,0)~£_E°° sin(2n —1)x
0, xefoz) 2 =4 2n-1
) 1 72_2
Parseval =—.
v 2on 1" 8



5 16.1.2
O 0 _MN\" _
f(x)= xel0.7) ~£+32L21cosnx
-x xe[-z0) 2 74 n
- 1
Parseval
2 -1y
6.
X2 7t .
Xt= Z cosnx X € (-, 7)
n=1
=1
Parseval > =
n-1 N
7 f(x) (—o0,40) 2r
:ir f (x)sin nxdx , br’{:ir f "(x)sin nxdx
Ty T
S
n=1
o0 1 o0 "
Z\/lbn <_(2+Z|bn |J
n=1 2 n=1
8 f(x) (—o0,+0) 2 f(x) Fourier
f(x)=0
9 f(x) 2r >0
_ AN i
v, (X) = 5 + > (A, coskx+ B, sinkx)
k=1
[T 1100w, (0ldx<e
16.4
1 (—00,40) Fourier
A, O0<x<9,
f(x)= 0 _ f(x)=e23X a>0;
e?*, x>0
f(x)=e2¥ a>0; f(x) = ’ ’
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ACOS @, X, <0,
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0, | X|> 0, w,
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X > i r
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16.5

nj

N-1 i
Fourier X(j) = x(n)e ™~ Fourier
n=0

f (@)= f(x)edx

1N o pnfk

er Ne N =5,
N=pg p,geN O((p+q)N) Fourier
N =23 2 FFT
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FFT {x(k)}3 Fourier X(H¥L
x(k)} LX)} 16.5.4
5 >0 XD | X ()< 6,
Fourier {x(k)}
o, Sy
N =32, 64,128
xR {y(khs
x()}  {y(k)} {z(k)}h%
Fourier FFT {z(k)}
N
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